log[Empfindlichkeit]
logLo = —0,35[1—Us7d?
logLa=logLo+0,00

log [Lo, V2]
Ma Lo

logM o= —0,35[1)—Us.:]2

= log Vi +0,09
U=(A-550)/50

log

log[Sattigung]
logLo = —0,35[)~Us7q2
logLa=logLo+0,00
log [Lo/Lo, ML)
M

logMo= —0,350)—Us.:]?

logMV 2= logM-+0,09
Sattigung L

Adaptation
O&M: 570
tro 04

\ . 00 -0,09 0g=0,00

SSCg=v U La =0,00
M0=-0,09 M3=0,00

495Ec  565Ec

1

[ \GETET)]
O&M: 570

495Ec  565Ec

log[Empfindlichkeit]
logLo = ~0,35[i~Us7q2
logLa=logLo+0,00

log [Lo, ]

Lo Oa

600Ad/nm 700Ac 400
logt =-0,35u\—u ]

log: =log  +0,09

u\=(\-550)/50

log[Sattigung]

logLo = —0,35[y~Us7q2
logLa=logLo+0,00

log [Lo/Lo, © /Lo, ]

Lo Oa

600Ag/nm 700xc 400
log- . =-0,35u)\—u ]

log~ =log  +0,09

Sattigung L

]

Adaptation

O&M: 570
0. ts=0.04
0p=-0,09 0g=0,00

= @<= A La =0,00
M0=-0,09 M2=0,00

o
N\
AN
' \

595 495Ec  565EC

l 1

' Adaptation
O&M: 570

595 495Ec  565EC

600Ad¢/nm 700A¢ 400

600Ad/nm 700Ac 400




